Chapter 7

7.1

For the Lagrangian
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the equations of motion are given by
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For the Lagrangian
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the equations of motion are given by

For the Lagrangian
1

1 1 1
L= 50up1)* = gm0l + 5 (Ou2)”* — 5m*05 — g(p1 + ¢3)°

2 2

oL oL
9L o (=25 Yo
01 “(8(%@1))

—mp1 — 4gp1 (9] + ¢3) — 8,001 =0
’ (0% +m?) 1 + 4g(] + 3)% 1 = 0‘

2
the equations of motion are given by
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7.4

For the Lagrangian

we can write out the summation as

L= %sbz - %(V¢)2 - sm*y?
In this form, it’s clear to see that
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H= %gb? - %(ch)z + %m2<p2
If we define
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then for this Lagrangian we have
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